/ DAILY WORK REQUEST
ILWU MARINE CL S L 63 LA/LB HARBQR
MCA: Zw DAY: %‘Q DATE: ‘ZLK@J PM
ORD 25% % BASIC
CO. SHIP DOCK | BY | TIME TWR] FR |DST| CTD F/R CTD SHIP | DOCK
U 7 a\ | AP o\ ) o
T LAWY gb '}@T;Dr:ﬁ Vrfun ( ;@mef (E92) llc)iﬂ N
. ]
PN LA~ ’Y})o el [\edc
215
A Sob cwz (zk
| al [ V31249
v 7,1 9 [Drvord i
- = 52
S 7%% =y (i -
sl S pag? (s |
< (REA
5P (ﬁgb p@:ﬁ"‘% liorep
N (N e e~ (?mmo -
2 - 4W’
Al 308 pyewrot (5Zro)
) (55
[\ (Fo| |- o LJS
| - T6 | |
frssr %%% A g1 \506 ) e 22
ST hecoeTr|r b7 l) (547' )
toz )
(] pliebBo | Us e ¢ =) |
L |, et 210 YW HNY Y 2ioA
£l | mocH jg&z‘;‘,:“’j (Frllo) (éne
‘ 2N
‘ﬁ(} %\f /70»(?A\ﬁ'f — i;_\ - ——
I oY 213 Y 45 733
fr~ flozion %CL‘“‘T :}59:) %ﬂpﬁ 7 )/t <)
0 ADAMS | (]| | L& 3
L8 \& kT [5%) 2Sie]
T wrsritod |29 [ ey L o
—(2F
NETHEZ-. {f‘ R %50
T (el [T [Ac)
A Y00 [SEay &"9’
KEY BASIC TIL 13120 |10 |45 |2 |2 [9 |—




DAILY WORK REQUEST pa.i

ILWU MARINE CLERKS LOSAL 63 LA/LB HARBO,
DAY: DATE: / / g Q\/I PM
" 1 AS

ORD 25% % IC
CO. SHIP DOCK | BY |TIME [ S/IC [TWR|[ FR [DST[ CTD | FR | CTD | SHIP | DOCK
B|3|20flo|ys |B |2 |9 | —

—~ —r

126 |t P s | o0

(15| onE £ | 2ot Dot
N patcon sy
ACY EncHi | hoo|ec
PA-| A, Lemel198

' Kyoro |102

P
(53
M =N S Y HOgpde Y 4 &J S

26 241 é ,,43‘;;
i E@Au& ;‘n' M‘W\ '
/ ug;au\%\, ZT\\Q ‘ (I
AP 7‘}00 Teas, 27 _ (:Ejj
Vi o’ | (5]
Y [ UBs uiry ?'8 L . }Z@ %55
W manvkal | o roed iy \iny) (M
o | [ | (G
- 7T (.Y [
Kdo Ay Gy 19 44
s el | (&
HE Lzéaq (ngpp.e:quA Q‘:,‘_') o
s 28 Aotk &
pen (Do esgzeo | {50
E 235 %/fmi\z @D
KEY BASIC TTL 16 |26|57 14|75 l«l A, 113 | —



o]

DAILY WORK REQUEST !

T o 1[0 (e

CO. SHIP DOCK| BY | TIME | S/IC | TWR| F/R [DST| CTD F/R CTD SHIP | DOCK
2o 57 14| 756 |H | & |I2] —

P VD (I
Ml DB tauky gfg S'f@ilg;m N (\Z@’
A )
TP 13 %ZobZ&s ﬁ_‘%« -
SSA U, Learzels 5 MY % o . 9%4;‘”0 rwz”?’ é'
A peeiea | 2esep () (H) |
2 B )
ITS 563‘1 f?fﬂVE‘]ﬂ. \%/D .
(15 17’,%‘/ gﬁzc;l = (Qfld
E I:La@"/ f/e‘?ﬁ/c;p ~. Lé/
LI/ AREEE S
TP | Expeimee|\36 %:;07 (1@ .
SSh é%& )g;:/d7 <§; =
53 216 o _ (52
A Ceoledd, | () L
238|Ke \f’ 20BA%ic 4581 110 Y| bZ=[\'5| 97 b | 4 |1 | A
KEY BASIC TTL




